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1 Setup

Show that
curlσab = −∂〈bωa〉 (1)

Use definitions:
curlSab = εcd〈aSb〉d,c (2)

Expand brackets:
curlSab = 1

2εcdaSbd,c + 1
2εcdbSad,c − 1

3εcdeSed,cδab (3)

Insert σab

curlσab = 1
2εcdaσbd,c + 1

2εcdbσad,c − 1
3εcdeσed,cδab (4)

or

curlσab =
(

1
4εcdaub,dc + 1

4εcdaud,bc − 1
6εcdaue,ecδbd

)
(5)

+
(

1
4εcdbua,dc + 1

4εcdbud,ac − 1
6εcdbue,ecδad

)
− 1

6εcdeue,dcδab − 1
6εcdeud,ecδab + 1

9εcdeuf,fcδabδde

First terms vanish

curlσab =
(

1
4εcdaud,bc − 1

6εcbaue,ec

)
+

(
1
4εcdbud,ac − 1

6εcabue,ec

)
(6)

The last terms also vanish, i.e.,

curlσab = 1
4εcdaud,bc + 1

4εcdbud,ac (7)

Part II, consider next right-hand side:

−∂〈bωa〉 = − 1
2∂bωa − 1

2∂aωb (8)

Insert definition for curl
−∂〈bωa〉 = − 1

2∂bεacdud,c − 1
2∂aεbcdud,c (9)

Evaluate other derivative
−∂〈bωa〉 = − 1

2εacdud,cb − 1
2εbcdud,ca (10)

Not the same (by sign and factor 1/2)!?
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